Goteborgs BF
Grupp A, 28 br, 15-28

IMP over féltet, 14 bord, 24 par. Antal brickor: 14.

Plac Par Poang Namn MID Klubb
1 7 2.22 Patrik Clevstrom - Annika Corneliusson 52591 38624 BK Everfresh
2 203 221 Sven-Olof Jarkvist - Paul Jigberg 25822 23096 BK Lejonet - BK Debut
3 10 2.08 Stefan Asgarden - Ingemar Assarsjo 3901 647 BK Lyx
4 102 1.82 Moa Petersen - Simon Gustavsson 85317 49608 Frdlunda BS
5 11 1.69 Philip Berggren - Robin Bjorkstrand 39845 30309 Frolunda BS - BK Lyx
6 1 1.45 Kjell Berndtsson - Jacob Kleiven 4970 29713 BK Lyx
7 101 0.70 Jim Nielsen - Anders Brunzell 4865 12576 BK Centrum
8 103 0.63 Nils Ahlén - Robert Back 1169 11174 BK Bjorken - BK Lyx
9 104 0.49 Miklos Bajzath - Hans Orrheim 13864 13863 BK Lyx
10 201 0.32 Jan Andersson - Ann Bergqvist 37709 32898 BK Lyx - Kronhusklubben
11 9 0.16 Ake Boije af Gennas - Bror Andreasson 18415 4797  BK Lyx
12 106 0.05 Stefan Corneliusson - Tommy Somlo 38625 12620 BK Everfresh
13 107 -0.05 Sven Nilsson - Nils Nordahl 53041 3075 BK Debut - BK Lyx
14 4 -0.16 Stefan Stolt - Géran Ostberg 29994 27577 BK Everfresh
15 204 -0.32 Lars Hansson - Bertil Hansson 40795 65912 BK Lyx - Asperg-Branno BK
16 109 -0.49 Anders Simonsson - Finn Jeppsson 56420 88498 BK Everfresh - Askims BK
17 110 -0.63 Mats Allgower - Ella Olsson 8386 20412 BK Lejonet - BK Lyx
18 112 -0.70 Gunnar Jansson - Torbjorn Kareke 51436 13038 BKLyx
19 12 -1.45 Gote Berntsson - Goran Selldén 92122 4863  BK Alert
20 2 -1.69 Kjell Evensen - Thomas Therkelson 11738 4805  Partille/MoInlycke BK - BK Lejonet
21 111 -1.82 Joakim Olsson - Sten-Ake Thunberg 80478 2754  Bohus Nations BS - BK Lejonet
22 3 -2.08 Johan Svensson - Lars-Uno Andersson 11900 14287 Bohus Nations BS
23 202 -2.21 Josefin Samfelt - Sven Olof Jern 59734 40796 BK Debut - BK Lyx
24 6 -2.22 Annika Wallén - Stefan Palm 64867 65401 BK Debut
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9 4 24V+1 ¢2 -140 340 -340| 11 2 5vDS= vA 650 113.0 -113.0|203 202 3NO-2 &3 100 63.0 -63.0
103 110 34 V= ¢5 -140 34.0 -34.0|107 106 34DS= ¢6 530 92.0 -92.0(109 104 44 O-1 ¥3 50 48.0 -48.0
3 10 3¢ O+1 vA -170 22.0 -22.0(112 101 5¢DO-2 4A 500 87.0 -87.0(112 101 2NO-1 +¢Q 50 48.0 -48.0
7 6 24 V+2 vA -170 22.0 -22.0(203 202 5¢DO-2 4A 500 87.0 -87.0|103 110 INO= v4 -90 9.0 -9.0
11 2 34 V+1 &8 -170 220 -220| 9 4 5¢ 0-2 4K 200 240 -240| 11 2 140+2 ¢Q -110 20 -20
111 102 34 V+1 43 -170 22.0 -22.0|109 104 44 S-1 &8 -50 -29.0 29.0|107 106 14 V+1 ¢6 -110 20 -20
203 202 24 V+2 vA -170 220 -22.0|111 102 4v S-1 3 -50 -29.0 29.0(|111 102 24 O= ¢Q -110 20 -2.0
204 201 24 V+2 vA -170 220 -220| 3 10 54S-2 vA -100 -45.0 45.0(204 201 14 0O+2 4A -110 20 -20
12 1 44 V= 45 -420 -500 500| 12 1 4¢vyDS-1 ¢2 -100 -450 450 3 10 24 O+1 ¢Q -140 -100 100
107 106 44 V= vA -420 -50.0 50.0|204 201 4vDN-1 &K -100 -450 450| 12 1 24V+1 &5 -140 -10.0 10.0
109 104 44 O= ¢2 -420 -50.0 500 7 6 3¢ N-4 &3 -200 -640 640 7 6 3NO= 7 -400 -780 78.0
112 101 44 V= 5 -420 -50.0 50.0|103 110 5¢DV= ¢Q -750 -146.0 146.0| 9 4 3NO= 2 -400 -780 78.0
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7 6 2#N= v4 90 550 -55.0| 7 6 3#N= 48 110 27.0 -27.0(111 102 3NN+1 &3 630 119.0 -119.0
103 110 INV-1 &K 50 440 -44.0(204 201 3« N= vA 110 27.0 -27.0(203 202 24 V-2 vA 200 27.0 -27.0
9 4 INV= &K -90 -2.0 20| 11 2 44 0-1 +A 100 260 -260| 12 1 INS+3 44 180 18.0 -18.0
12 1 INV= &K -90 -2.0 2.0(107 106 34 O-1 #9 100 26.0 -26.0(103 110 INS+3 43 180 18.0 -18.0
111 102 INV= &5 -90 -2.0 2.0(112 101 44 O-1 +A 100 260 260 9 4 2¢vN+2 T 170 18.0 -18.0
112 101 INO= v8 -90 -2.0 2.0|203 202 3v V-1 +6 100 26,0 -260| 7 6 INN+2 ¢4 150 80 -8.0
203 202 INO= &6 -90 -2.0 2.0(109 104 2#N= vA 90 240 -240| 11 2 INS+2 «Q 150 8.0 -80
11 2 24N-1 v4 -100 -2.0 20| 12 1 44N-1 vA -50 -19.0 19.0(112 101 INS+2 &3 150 8.0 -80
109 104 24 N-1 ¢A -100 -2.0 2.0(103 110 3NN-1 8 -50 -19.0 19.0| 3 10 2v N= &3 110 -4.0 4.0
204 201 INV+1 &K -120 -13.0 13.0| 9 4 24 0+1 &9 -140 -480 48.0|107 106 3NN-1 &3 -100 -58.0 58.0
3 10 2#N-2 ¥3 -200 -360 360 3 10 3NN-3 42 -150 -480 48.0|109 104 3NN-1 &2 -100 -58.0 58.0
107 106 2#S-2 ¢J -200 -36.0 36.0(111 102 3NN-3 43 -150 -48.0 48.0|204 201 2NS-3 46 -300 -104.0 104.0
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203 202 3NV-3 «Q 150 37.0 -37.0 7 6 264 O+3 vK -200 98.0 -98.0 7 6 4v V-2 &K 200 75.0 -75.0
103 110 4v O-2 +2 100 20.0 -20.0 9 4 24 0O+4 vK -230 920 -920| 11 2 24V-1 +Q 100 47.0 -47.0
109 104 3NO-2 «Q 100 20.0 -20.0|204 201 24 O+4 vK -230 92.0 -92.0|203 202 2v O-1 «J 100 47.0 -47.0
111 102 4v O-2 #Q 100 20.0 -20.0 (109 104 5#V+1 ¢vK -620 -1.0 1.0103 110 INN= v2 90 46.0 -46.0
112 101 4v O-2 #Q 100 20.0 -20.0 3 10 54 0+2 vK -640 -8.0 80| 12 1 2¢ V= a5 -90 -7.0 7.0
3 10 4vO-1 #Q 50 -1.0 10| 12 1 540+2 vK -640 -8.0 8.0|109 104 14 N-1 9 -100 -10.0 10.0
9 4 3v0O-1 #4 50 -1.0 1.0|112 101 5# O+2 vK -640 -8.0 8.0|204 201 1vO+1 ¢6 -110 -11.0 11.0
12 1 3v0O-1 44 50 -1.0 10( 11 2 44 O+2 vK -680 -21.0 210 3 10 2¢»v O+1 &2 -140 -23.0 23.0
107 106 4v O-1 &7 50 -1.0 1.0|103 110 44 O+2 vK -680 -21.0 21.0|107 106 1v O+2 #9 -140 -23.0 23.0
204 201 3NV-1 «Q 50 -1.0 1.0|107 106 3NV+3 v4 -690 -24.0 240 9 4 1vO+3 &9 -170 -32.0 320
7 6 29v0= 44 -110 -43.0 43.0(203 202 3NV+3 v2 -690 -240 24.0|112 101 2#N-2 4A -200 -41.0 41.0
11 2 3NS- v7 -200 -69.0 69.0|111 102 64D O +1 vK -1740 -167.0 167.0|111 102 2¢ N-3 &3 -300 -68.0 68.0
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203 202 4v O+3 #K -510 136.0 -136.0 7 6 4v S+2 ¢4 480 64.0 -64.0 3 10 5¢ O-1 ¢A 100 79.0 -79.0
7 6 6y O+1 &K -1010 440 -44.0|204 201 3NN+2 &4 460 57.0 -57.0 7 6 3NV-1 2 100 79.0 -79.0
9 4 6vy0+1 &6 -1010 440 -44.0 9 4 4v S+1 5 450 57.0 -57.0| 11 2 3NV-1 «T 100 79.0 -79.0
11 2 6y O+1 &K -1010 440 -44.0|103 110 4y N+1 T 450 570 -57.0| 12 1 3NV-1 «T 100 79.0 -79.0
103 110 6v O+1 &K -1010 440 -44.0|107 106 44 N+1 ¥3 450 57.0 -57.0(112 101 3NV-1 v6 100 79.0 -79.0
107 106 6vy O+1 &K -1010 440 -440| 12 1 4v S= +5 420 47.0 -47.0|203 202 INO+3 &T -180 20.0 -20.0
109 104 6v V+1 &K -1010 440 -44.0|109 104 4v N= ¢T 420 47.0 -47.0 9 4 5¢0= &2 -600 -68.0 68.0
3 10 7+ O= #K -1510 -80.0 80.0 3 10 6vyS-1 ¢4 -50 -68.0 68.0(103 110 5¢ V= vT -600 -68.0 68.0
111 102 7+ O= &K -1510 -80.0 80.0|112 101 54 N-1 &5 -50 -68.0 68.0(107 106 5¢ O= &5 -600 -68.0 68.0
204 201 7v O= K -1510 -80.0 800| 11 2 6vS-2 &3 -100 -79.0 79.0|109 104 3NO= vT -600 -68.0 68.0
12 1 7NO= &K -1520 -80.0 80.0|203 202 6v S-2 5 -100 -79.0 79.0(111 102 5¢ V= vT -600 -68.0 68.0
112 101 7NO= &K -1520 -80.0 80.0|111 102 6v S-3 45 -150 -920 92.0(204 201 3NV+1 %4 -630 -750 75.0
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11 2 54DS= ¥K 650 105.0 -105.0|103 110 2N O -4 #4 200 85.0 -85.0
111 102 54DS= vK 650 105.0 -105.0 3 10 INV= a5 -90 5.0 -5.0
204 201 44DS= ¥K 590 90.0 -90.0|109 104 2¢ O= «Q -90 5.0 -5.0
7 6 44 S+1 vK 450 65.0 -65.0|111 102 1INV = 4Q -90 5.0 -5.0
107 106 54 S= vK 450 65.0 -65.0(112 101 1INV = L 2] -90 5.0 -5.0
9 4 6vyDV-1 «3 100 -6.0 6.0 7 6 3¢0+1 vA -130 -10.0 10.0
103 110 5vDV-1 4«3 100 -6.0 6.0 9 4 3¢ 0+1 #A -130 -10.0 10.0
203 202 5vDV-1 «K 100 -6.0 6.0|204 201 3¢ O+1 vA -130 -10.0 10.0
109 104 54DS-1 vK -100 -450 450| 11 2 2vyV+1l &8 -140 -140 140
3 10 4vV+1 42 -450 -103.0 103.0( 12 1 2vV+1 %8 -140 -140 140
12 1 5vDV= 43 -650 -132.0 132.0(203 202 2v V+1 #8 -140 -140 140
112 101 5vDV= 43 -650 -132.0 132.0|107 106 3#S-2 +Q -200 -33.0 33.0
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